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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

24, 25 , ? , 41 , −8 , 73 ,  ?

(A)12 (B)14 (C)26 (D)16 (E) None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

13 , 28 , 57 , 114 , 227 , ?

(A)476 (B)426 (C)428 (D)452 (E) None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)400m (B)300m (C)250m (D)450m (E)None of these

A train 200 meter long running at 48 km/hr. crosses a tunnel in 45 seconds . Find the length of 
tunnel.
200 मीटर लंबी एक टर ेन 48 ककमी/घंटा की गकि से चल रही है। 45 सेकंड में एक सुरंग को पार करिा
है। सुरंग की लंबाई ज्ञाि कीकिए|

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)50% (B)60% (C)37.5% (D)40% (E) None of these

A Shopkeeper  gives a discount of 37.5% to customer and still gets a profit of 25%. If the 
shopkeeper gives a discount of only 20% , what profit percent he will get ?
एक दुकानदार ग्राहकको 37.5% की छूट देिा है और किर भी 25% का लाभ प्राप्तकरिा है।
यकद दुकानदार केवल 20% की छूट देिा है, िो उसे ककिना लाभ प्रकिशि प्राप्त होगा?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)100 (B)120 (C)90 (D)80 (E)84

Twenty years ago the age of father was four times the age of son . After 20 years form now the ratio 
of father ‘s  age and son’s age will be 8 : 5. what is sum of their present ages ?
बीस वर्ष पूवष कपिा कीआयु पुत्र कीआयु की चार गुनी थी। 20 वर्ष बाद अब कपिा कीआयु और
पुत्र कीआयु का अनुपाि 8:5 होगा। उनकी विषमानआयु का योगक्या है?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)14 (B)7 (C)21 (D)35 (E)None of these

E04613

Pawan is twice as fast as amit and amit is thrice as fast as maneesh is . If the journey covered 
by maneesh in 42 minutes then how much time will Pawan take to cover this journey? पवन, 
अकमि से दोगुना िेि है औरअकमि, मनीर् से िीन गुना िेि है। यकद मनीर् द्वारा 42 कमनट में िय
की गई यात्रा है, िो पवनको इस यात्रा को पूरा करने में ककिना समय लगेगा?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)21:16 (B)11:5 (C)5:2 (D)7:3 (E)5:3

In how many ways the letters of the word ‘FLUTE’ can be arranged?
शब्द 'FLUTE' के अक्षरो ंको ककिने प्रकार से व्यवस्थथि ककया िा सकिा है?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)135cm (B) 270cm (C) 135√2cm (D)135 /√2 cm (E) None of these

Find the area of a parallogram whose length and height is 18 cm and 15 cm  respectively ? 
एकसमांिर चिुभुषि का के्षत्रिल ज्ञाि कीकिए किसकी लंबाईऔर ऊँचाई क्रमशः 18 सेमीऔर
15 सेमी है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)8:11:22 (B)5:12:25 (C)5:12:20 (D)12:15:25 (E)None of these

A , B and C started business by investing in ratio 5:8:10. if their invested time was 2years, 3 years and 
5 years respectively, find the ratio of their profit distribution.
A, B और C ने 5:8:10 के अनुपाि में कनवेश करके व्यवसाय शुरू ककया। यकद उनका कनवेश ककया
गया समयक्रमशः 2 वर्ष, 3 वर्ष और 5 वर्ष था, िो उनके लाभ कविरणका अनुपाि ज्ञाि कीकिए।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)9 (B)-9 (C)√9 (D)81 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

(300 ÷ 20 )² − (12)² = (?)²
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)86410.8 (B)84100.8 (C)88610.8 (D)81064.8 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

77.7 + 777.7 + 7777.7 + 77777.7 = ?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)12131 (B) 11215 (C)12115 (D)11125 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

86795 − ? = 75321 − 641 = ?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)-16 (B)16 (C)4 (D)-32 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

13² − 4² = ? + 169

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)74165 (B)74654 (C)74154 (D)74156 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

? − 4441 − 321 − 20 + 520 = 69894
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)-16 (B)8 (C)64 (D)1/64 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)1.67 (B)0.33 (C)1.33 (D)0.167 (E) 0.57

E04613

What value should come in the place of question mark(?)in the following questions?

³√ 1860867 − √ 2809 = 420 × ?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)35 (B)48 (C)45 (D)51 (E) 40

E04613

What value should come in the place of question mark(?)in the following questions?

75% of 240 + ?% of 270 = 310.5
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)457 (B)427 (C)456 (D)424 (E) None of these

E04613

What value should come in the place of question mark(?)in the following questions?

324 + √16 × 3 + 121 = ?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)15 (B)18 (C)22 (D)20 (E) 11

E04613

What value should come in the place of question mark(?)in the following questions?

25% of 1245 + ?% of 725 = 420
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

26 . ? , 961 , 1156 , 1444 , 1849 , 2401  

(A)729 (B)625 (C)529 (D)841 (E)None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

27 . 12552 , ? , 416 , 102 , 32 , 14

(A) 2040 (B)2140 (C)2090 (D)2190 (E)None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

28 . 68921 , 50653 , 29791 , 24389 , 12167 , ?  

(A)6869 (B)6859 (C)6879 (D)6889 (E)None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

29 . 159 , 110 , 74  , 49 , ? , 24 

(A)33 (B)35 (C)37 (D)39 (E)None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

30 .120 , 15 , 17.5 , ? , 21.875 , 65.625  

(A) 85.5 (B)87.5 (C)89.5 (D)83.5 (E)None of these

E04613
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Direction for Question Study  the  following  table  carefully  and  answer  the  following  question  based  on  it.  Number
of Bikes  sold  (in thousand) by  5 showrooms  during   5 months.

प्रश्न के कलए कनदेश कनम्नकलस्िि िाकलका काध्यानपूवषक अध्ययनकरें और उसकेआधार पर
कनम्नकलस्िि प्रश्नो ं के उत्तर दें। 5 माह के दौरान 5 शोरूमो ं द्वारा बेची गई बाइको ंकी संख्या (हिार
में)।

E04613

Month Axis SN KTL Swami Megha

January 154 180 156 215 237

February 167 199 179 181 254

March 191 219 211 163 263

April 205 198 259 165 181

May 215 231 230 178 250
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)205 (B)207 (C)305 (D)208 (E)215

31. What is the average number of Bikes sold (in thousand) by showroom KTL in all the given 
months together?
सभी कदए गए महीनो ं में शोरूम K.T.Lद्वारा बेची गई बाइको ंकीऔसि संख्या (हिार में) ककिनी
है?

E04613

Month Axis SN KTL Swami Megha

January 154 180 156 215 237

February 167 199 179 181 254

March 191 219 211 163 263

April 205 198 259 165 181

May 215 231 230 178 250

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)5% (B)10% (C)15% (D)20% (E)None of these

32. By what percent approximately the number of Bikes sold by showroom SN increase from March 
to May?
माचष से मई िक शोरूम एसएन द्वारा बेची गई बाइककी संख्या में लगभग ककिने प्रकिशिकी
वृस्ि हुई?

E04613

Month Axis SN KTL Swami Megha

January 154 180 156 215 237

February 167 199 179 181 254

March 191 219 211 163 263

April 205 198 259 165 181

May 215 231 230 178 250

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)303 (B)303.6 (C)303.5 (D)307.6 (E)None of these

33. The number of Bikes sold by showroom KTL increased by 10% from May to June and by 20% 
from June to July. How many Bikes were sold (in thousand) by store KTL in July?
शोरूम केटीएल द्वारा बेची गई बाइक्सकी संख्या में मई से िून िक 10% और िून से िुलाई िक
20% की वृस्ि हुई। िुलाई में केटीएलस्टोर द्वारा ककिनी बाइकें (हिार में) बेची गई?ं

E04613

Month Axis SN KTL Swami Megha

January 154 180 156 215 237

February 167 199 179 181 254

March 191 219 211 163 263

April 205 198 259 165 181

May 215 231 230 178 250

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)1442 (B)1042 (C)1342 (D)1230 (E)None of these

34. The total number of Bikes sold by all the given stores together in August was 9/8 of the total 
number of Bikes sold by all the given stores together in May. How many Bikes were sold (in thousand) 
by all the given stores together in August itself?
अगस्तमें सभी कदए गएस्टोर द्वारा बेची गई बाइककी कुल संख्या मई में सभी कदए गएस्टोर द्वारा
बेची गई बाइककी कुल संख्या का 9/8 थी। अगस्तमें ही सभी कदए गएस्टोरो ं द्वारा ककिनी बाइकें
(हिार में) बेची गई?ं

E04613

Month Axis SN KTL Swami Megha

January 154 180 156 215 237

February 167 199 179 181 254

March 191 219 211 163 263

April 205 198 259 165 181

May 215 231 230 178 250
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(A)10% (B)12% (C)15% (D)7% (E)17%

35. The no. of Bikes sold by showroom Swami in May is approximately what percent less than the 
number of Bikes sold by show room Axis in March ?
शोरूमस्वामी द्वारा मई में बेची गई बाइको ंकी संख्या माचष में शो रूम एस्क्सस द्वारा बेची गई
बाइककी संख्या से लगभग ककिना प्रकिशिकम है?

E04613

Month Axis SN KTL Swami Megha

January 154 180 156 215 237

February 167 199 179 181 254

March 191 219 211 163 263

April 205 198 259 165 181

May 215 231 230 178 250
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 54432 (B)58132 (C)59182 (D)52142 (E)None of these

11. X's monthly income is equal to the cost of 84 kg. of sugar. Cost of 12 kg. of sugar is equal to the 
cost of 18 kg. of rice. If the cost of 24 kg. of rice is Rs.864. Then what is X's annual salary? 
X की माकसकआय 84 ककलो चीनी के मूल्य के समान है। 12 ककलो चीनी की कीमि 18 ककलो
चावल के समान है। यकद 24 ककलो चावलकी कीमि 864 रू. के बराबर है िो X की वाकर्षकआय
क्या होगी?

E04613
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(A) 6 : 16 :1 (B)16 :1:6 (C)1 : 16 : 6 (D)16 : 6 :1 (E) None of these

12. P, Q and R started a business with certain sum of money invested for the time in the ratio 2: 
1:8. At the end of the business term they received the profit in the ratio 3: 4: 2. Find the ratio of 
investment of Q, R and P?
P,Q और R एक कुछ धनराकश 2 : 1 : 8 के समय के अनुपाि में कनवेशकरके एकव्यापार प्राम्भ
करिे हैं। व्यापार की समास्प्त पर वे 3: 4:2 के अनुपाि में लाभ प्राप्तकरिे हैं। Q, R और P द्वारा
कनवेकशि राकश का अनुपाि है।

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)21 (B)24 (C)29 (D)30 (E)None of these

13. 5 years ago, the average age of A, B and C was 25 years and 7 years ago, the average age of B 
and C was 20 years. What is A's present age?
5 वर्ष पहले A, B िथा C कीऔसिआयु 25 वर्ष थी एवं 7 वर्ष पहले B और C कीऔसिआयु 20 
वर्ष थी। A की विषमानआयुक्या है?

E04613
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(A)10000 (B)20000 (C)5000 (D)7500 (E)None of these

14. A shopkeeper get a profit of 30% by selling an article. If the shopkeeper buy the article at 10% 
less than its price and sells it at 10% less than its selling price. The difference in the profit he makes is 
Rs. 300. Find the cost price of the article? एक दुकानदार को एक वसु्त बेचने पर 30% का लाभ
होिा हैं। यकद वह इसे क्रयमूल्य से 10% कम परिरीदें िथा 10% कम मूल्य पर बचें िो लाभो ं के
बीच का अंिर 300रू. हैं । वसु्त का क्रय मूल्यज्ञाि कीकिये ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)1 : 2 (B)1 : 3 (C) 2 : 3 (D) 1 : 4 (E) 1 : 5

16. Mixture A contains 12.5% water and mixture B contains 10% water. In what ratio both mixtures 
should be mixed in a bottle so that in bottle ratio of milk and water be 89:11. 
कमश्रण A में पानी 12.5% और कमश्रण B में पानी 10% पानी है। एक बोिल में दोनो ं को ककस
अनुपाि में कमलाना चाकहए िाकक बोिल में दूधऔर पानी का अनुपाि 89:11 हो िाये।

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 12.5% (B)15% (C)12% (D)16% (E)18%

17. An article which was sold for Rs 950.4 was marked at Rs 1440. If two successive discounts were 
given with first being 25%, find the second discount given?
एक वसु्त किसे 950.4 रुपए मूल्य पर बेचा गया उस पर 1440 रुपए पर अंककि ककया गया था ।
यकद दो क्रमागि छूट को कदया गया किसमे प्रथम 25% था, िो दूसरी छूट ज्ञाि कीकिये?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)324 (B) 384 (C)421 (D)584 (E)336

18. In a room there are 7 boys and 3 girls. In how many ways can they be seated in a row so that 
any two girls do not sit together?

एककमरे में 7 लड़केऔर 3 लड़ककयां हैं। ककिने प्रकार से उन्हें एक पंस्िमें बैठाया िा सकिा
है िाकक सभी लड़ककयाँ एकसाथ न बैठें?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)17500 (B)19800 (C)13250 (D)12350 (E)None of these

19. Ramesh spends 20% of his monthly income on children education. Out of the remaining 25% 
he spends on household items, 15% on transport, 15% on medicine and 10% on entertainment. He 
is left with Rs. 3990 after incurring all these expenditures. Find his monthly income?
रमेश अपने माकसकआयका 20% बच्ोंकी कशक्षा पर िचष करिा हैं । शेर् का 25% वह घरेलू
िचष पर िचष करिा है, 15% पररवहन पर, 15% कचककत्सा परऔर 10% मनोरंिन परिचष
करिा है। सभी िचों को वहन करने के बाद भी उसके पास 3990 रुपये शेर् बचे । उसकी
माकसकआय ज्ञाि कीकिये?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)13380 (B)13570 (C)14250 (D)13940 (E)None of these

20. The simple interest accrued on Rs 36000 at the end of three years is Rs. 12000. What would be 
compound interest accrued on the same amount for same time period. (Approx.)
36000 रुपये पर िीन वर्ष के अंि में साधारणब्याि 12000 रुपये है । समान समयअवकध के कलए
समान राकश पर अकिषि चक्रवृस्िब्याि ज्ञाि कीकिए। (लगभग)

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)30 (B) 45 (C)48 (D)36 (E)None of these

15. Three pipes A,B and C can fill a cistern in 36 day after working together for 12 day C is closed 
and A and B fill the remaining cistern in 48 day. Find the time in which the cistern can be filled by 
pipe C. 
िीन पाइप A, B और C एक टंकी को 36 कदन में भर सकिे है 12 कदन काम करने के बाद Cको बंद
कर कदया िािा है। A और B दोनो ं कमलकर शेर् टंकी को 48 कदन में भर देिे है। ककिने समय में
पाइप C टंकी को पूरा भर सकेगा।
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